WEEK 11 LAB

MATH 131 Section 2
November 8, 2018
Covering Sections 7.1-7.8 Your Name (Print): AvsviER YEY

Your very first step for all improper integrals should be to check to see if you need to split the
integral into two or more integrals and then rewrite each integral as an appropriate limit! Do not
start integrating until you have done these two steps!!! Remember if you have more than one integral to
evaluate, do just one at a time. Only continue with the second (third, etc.) integrals if the first is convergent.
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7. Evaluate — —_dx. (Hint for integration: Try letting u = v/z.
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